
১৮ তম             -      ম        

১। 

 কজ    জ   ত     ক       ত                       

(ক) 

     ল 

(খ) 

 ক    র 

(গ) 

   গল 

(ঘ) 

    ল ট 

     ক।      ল 

২। 

২০০০          ক  ক             ত   ? 

(ক) 

  ল   র ন 

(খ) 

       

(গ) 

 ট  কও 

(ঘ) 

    ন 

     ঘ।     ন 

৩। 

   ত ক       ম          ত আই.  .       ত ক                ক  ? 

(ক) 

২০ 
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(খ) 

২৩ 

(গ) 

২২ 

(ঘ) 

২১ 

     গ। ২২ 

৪। 

              ক    ? 

(ক) 

  র  

(খ) 

 ল    

(গ) 

   ল 

(ঘ) 

  ন  ট    র 

     ক।   র  

৫। 

জ  ত       ক   ম         ম               ত       ? 

(ক) 

   গ      র   ল   

(খ) 

উ   ন ট 

(গ) 

ক ট   ও        

(ঘ) 

  গ   ল   
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     ক।    গ      র   ল   

৬। 

 ম                  ক   ক? 

(ক) 

    কল     ল  

(খ) 

   নগগ 

(গ) 

    ল    ক     

(ঘ) 

 লওন               

     ঘ।  লওন               

৭। 

   ক      তম  কক  ক    ? 

(ক) 

 র ন 

(খ) 

     

(গ) 

  ন 

(ঘ) 

    ন 

     খ।      

৮। 

                  ক? 

(ক) 

   ন র        

(খ) 
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   র        

(গ) 

উ  র নর        

(ঘ) 

 লখ র        

     গ। উ  র নর        

৯। 

 ক             ? 

(ক) 

     ন 

(খ) 

     ন 

(গ) 

     ন 

(ঘ) 

     ন 

     ক।      ন 

১০। 

 তত        ক      - ক            ? 

(ক) 

Honesty is the better way 

(খ) 

Honesty is a good way 

(গ) 

Honesty is the best policy 

(ঘ) 

Honesty is the best virtue 

     গ। Honesty is the best policy 

১১। 
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               ম         জ       তম       ক  ? 

(ক) 

৩০  ছর 

(খ) 

৪০  ছর 

(গ) 

৩৫  ছর 

(ঘ) 

২৫  ছর 

     ঘ। ২৫  ছর 

১২। 

           ক          ক                          ক               ? 

(ক) 

   ন  ক  র   

(খ) 

   র   র 

(গ) 

    ন 

(ঘ) 

  ল      

     খ।    র   র 

১৩। 

জ      . আ .                জ        ।  ত    ক      ? 

(ক) 

 ন  ক     ন  

(খ) 

ক  ন  র    ক  ক 

(গ) 
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(ঘ) 

ক  উট র     ন  

     গ।      

১৪। 

Although a few years ago the fundamental fact about the Milky Way seemed fairly well 
____ now even its mass and radius have come into ____ 

(ক) 

established, question 

(খ) 

determined, resolution 

(গ) 

Ignored, danger 

(ঘ) 

Diminished, disrepute 

     ক। established, question 

১৫। 

Because she had a reputation for ____ we were surprised and pleased when she greeted 
us so ____ 

(ক) 

insouciance, cordially 

(খ) 

querulousness, affably 

(গ) 

arrogance, disdainfully 

(ঘ) 

Insolence, irately 

     খ। querulousness, affably 

১৬। 

A ____ statement is an ____ comparison; it does not compare things explicitly, but 
suggest a likeness between them. 
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(ক) 

sanguine, inherent 

(খ) 

blatant, overt 

(গ) 

metaphorical, implied 

(ঘ) 

sarcastic, unfair 

     খ। blatant, overt 

১৭। 

Prices for bicycles can run ____ Tk. 2000.00 

(ক) 

as hish for 

(খ) 

as high to 

(গ) 

so high as 

(ঘ) 

as high as 

     ঘ। as high as 

১৮। 

A seventeen year old is not ____ to vote in an election. 

(ক) 

old enough 

(খ) 

as old enough 

(গ) 

enough old 

(ঘ) 

enough old as 
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     ক। old enough 

১৯। 

Almost everyone fails ____ on the first try 

(ক) 

passing his driver's test 

(খ) 

to have passed his driver's test 

(গ) 

to his driver's test 

(ঘ) 

in passing his driver's test 

     খ। to have passed his driver's test 

২০। 

৬,৮,১০-        তক    ৭,৯      ক               তক       ম  ? 

(ক) 

৫ 

(খ) 

৬ 

(গ) 

৮ 

(ঘ) 

২২ 

     গ। ৮ 

২১। 

ক       ই        । ক    1/2          1/3      ক    45   ।  1/2        ক    2/5 

     ক       50। ক        ম   কত? 

(ক) 

ক=৬০ খ=৪৮ 

(খ) 
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ক=৪০ খ=৪৮ 

(গ) 

ক=৬০ খ=৫০ 

(ঘ) 

ক=৫০ খ=৬০ 

     ঘ। ক=৫০ খ=৬০ 

২২। 

৩৬০০   ক  ক                   ক        । ক   ২০%                ২০%   ত ত 

     ক        ।    ম     কত    ক         ? 

(ক) 

৯০০ ট ক  

(খ) 

৩০০ ট ক  

(গ) 

ল    ল ক  ন  কছ      ন 

(ঘ) 

৬০০ ট ক  

     খ। ৩০০ ট ক  

২৩। 

  ক     ক ম   ক          ৪৫ ম ই ।ক  ম      ৩ ম ই            ।ক  ম   ক  

   ক               ক          ম ম   ক      ক   ক              ।   ম কত 

ম ই           ক   ম               ? 

(ক) 

২৪    ল 

(খ) 

২৩    ল 

(গ) 

২২    ল 

(ঘ) 

২১    ল 
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     ক। ২৪    ল 

২৪। 

৫৬             ক      ক       ক  কই          ক          ক   ,          

    ক    ক      ক        কত    ? 

(ক) 

২৮   ট 

(খ) 

৪৮.৫   ট 

(গ) 

৪১   ট 

(ঘ) 

৪৯.৬   ট 

     ঘ। ৪৯.৬   ট 

২৫। 

 ক        ৪০        । ক   মই    ত     ম    ত                  ক ৯          

     আ  ।     মই                    আ  ।মই   কত        ? 

(ক) 

৪৮   ট 

(খ) 

৪৩   ট 

(গ) 

৪১   ট 

(ঘ) 

৪৪   ট 

     গ। ৪১   ট 

২৬। 

১   ত ১০০                        কত? 

(ক) 

৫০০১ 
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(খ) 

৫০৫০ 

(গ) 

৪৯৯৯ 

(ঘ) 

৫৫০১ 

     খ। ৫০৫০ 

২৭। 

choose the word or phrase that is most nearly similar or opposite in meaning to the word 
given in the question: ILLUSIVE- 

(ক) 

Not deceptive 

(খ) 

Not coherent 

(গ) 

Not obvious 

(ঘ) 

Not certain 

     ঘ। Not certain 

২৮। 

choose the word or phrase that is most nearly similar or opposite in meaning to the word 
given in the question: EQUIVOCAL- 

(ক) 

Universal 

(খ) 

Quaint 

(গ) 

Mistaken 

(ঘ) 

Clear 
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     গ। Mistaken 

২৯। 

choose the word or phrase that is most nearly similar or opposite in meaning to the word 
given in the question: BROCHURE- 

(ক) 

Pamphlet 

(খ) 

censor 

(গ) 

Opening 

(ঘ) 

Bureau 

     ক। Pamphlet 

৩০। 

               ক  ক  ত- ত    ক    ? 

(ক) 

  ল+ন  

(খ) 

    ল+ন  

(গ) 

   ল+ ন  

(ঘ) 

   লন +  

     ক।   ল+ন  

৩১। 

ত               ক             -     ক           ক ? 

(ক) 

    রন   ক   

(খ) 
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    গক   ক   

(গ) 

      ক   

(ঘ) 

 রল   ক   

     খ।     গক   ক   

৩২। 

 ক          ত-        ক? 

(ক) 

   র ক   

(খ) 

   র      

(গ) 

     গ র      

(ঘ) 

 ন  র      

     গ।      গ র      

৩৩। 

  ত       ক    ত       ক         ক             ? 

(ক) 

   

(খ) 

 ন 

(গ) 

 ও 

(ঘ) 

 ল  ন    র      

     ক।    
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৩৪। 

         ক ? 

(ক) 

  ন    র  ক ট উ    

(খ) 

          র  ক ট উ    

(গ) 

  ল    র  ক ট উ    

(ঘ) 

          ক      ন        র  ক ট ক     উ    

     ঘ।           ক      ন        র  ক ট ক     উ    

৩৫। 

 ক           ২/৩    ক   ? 

(ক) 

৩/৫ 

(খ) 

৩৩/৫০ 

(গ) 

৮/১১ 

(ঘ) 

১১/১৭ 

     গ। ৮/১১ 

৩৬। 

           ম    ক ক     ? 

(ক) 

            

(খ) 

       ক 
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(গ) 

          

(ঘ) 

           

     খ।        ক 

৩৭। 

 ক   ক                    ৩০%             ক    ।         ক  ত        

ত     ১২ জ  ক              ক            ক         ৩০ জ         

ক   ।ক জ                        ক    ? 

(ক) 

৬০ 

(খ) 

৮০ 

(গ) 

১০০ 

(ঘ) 

১২০ 

     ক। ৬০ 

৩৮। 

      ১০             ম ৫            ৫৬০    ,    ৫            কত? 

(ক) 

৫৬০ 

(খ) 

৫৮৫ 

(গ) 

৫৪০ 

(ঘ) 

৫৭০ 

     খ। ৫৮৫ 
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৩৯। 

 ত     ম     ক   ক জ      ম ৪,৫,৬      ক  ত     ।  ই    ম            মত   

ক জ ক    ক      কত  ক  ক জ ক  ত     । 

(ক) 

৩/৫ 

(খ) 

১১/১৩ 

(গ) 

৯/২০ 

(ঘ) 

১১/১৫ 

     গ। ৯/২০ 

৪০। 

            ক            ক     ই       ৫              ত  ক      ।   ত    ক   

  ই                   ত  ক  ত ৩      ম      ।   ই     ই   ক            ক   

           ২/৩       ত  ক  ত কত  ম       ? 

(ক) 

৫/৪ ঘ   

(খ) 

২/৩ ঘ   

(গ) 

৩/৪ ঘ   

(ঘ) 

৮/১৫ ঘ   

     ক। ৫/৪ ঘ   

৪১। 

Travellers____their reservation well in advance if they want to visit the St. Martins island. 

(ক) 

had better to to get 

(খ) 
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had to better get 

(গ) 

had better got 

(ঘ) 

had better get 

     ঘ। had better get 

৪২। 

If ruby is heated it ____ temporarily loose its colour. 

(ক) 

has 

(খ) 

does 

(গ) 

would 

(ঘ) 

will 

     ঘ। will 

৪৩। 

choose the word or phrase that is most nearly similar or opposite in meaning to the word 
given in the question: INFRINGE 

(ক) 

Purloin 

(খ) 

Intrude 

(গ) 

Transgress 

(ঘ) 

Invade 

     গ। Transgress 

৪৪। 
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ম   ম  ! ক          ত    -   ক  ম   ম    ক             ? 

(ক) 

 ন ক র 

(খ) 

       

(গ) 

 ন    

(ঘ) 

      

     গ।  ন    

৪৫। 

 ক             ক                 ত   ? 

(ক) 

 র গ 

(খ) 

    

(গ) 

ক ল 

(ঘ) 

  ন   

     খ।     

৪৬। 

       ক      ক        আ     ত   ? 

(ক) 

       

(খ) 

  ন     

(গ) 
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  ক     

(ঘ) 

        

     খ।   ন     

৪৭। 

Many companies now have employee assistance programs that enable employees, free 
of charge, to improve their physical fitness, reduce stress, and learn ways to stop 
smoking. These programs increase worker productivity, reduce absenteeism and lessen 
insurance costs for employee health care. Therefore, these programs benefit the 
company as well as the employee. Which of the following, if true, most significantly 
strengthens the conclusion above? 

(ক) 

Physical fitness programs are often the most popular services offered to employees 

(খ) 

Studies have shown that training in strees management is not effective for many people 

(গ) 

Regular exercise reduces people's risk of heart disease and provides them with increased 
energy 

(ঘ) 

Employee assistance programs require companies to hire people to supervise the various 
programs offered. 

     ক। Physical fitness programs are often the most popular services offered to employees 

৪৮। 

Choose the answer that is closest in meaning to the following sentence : "Despite the 
great difference in size shape and function, all human cells have the same 46 
chromosormes." 

(ক) 

Difference in size-shape and function are not very great because all human cells have the same 
46 chromosomes 

(খ) 

The size- shape and function of human cells are the same but the 46 chromosomes are 
different 

(গ) 

Although the 46 chromosomes are the same in all human cells- there are difference in the size- 
shape and function 

https://3hourbattle.com/sq/860
https://3hourbattle.com/sq/860
https://3hourbattle.com/sq/860
https://3hourbattle.com/sq/860
https://3hourbattle.com/sq/860
https://3hourbattle.com/sq/860
https://3hourbattle.com/sq/861
https://3hourbattle.com/sq/861
https://3hourbattle.com/sq/861


(ঘ) 

All human cells are the same because the 46 chromosomes govern size-shape and function 

     গ। Although the 46 chromosomes are the same in all human cells- there are difference in 

the size- shape and function 

৪৯। 

All of the people at the NAM conference are - 

(ক) 

Mathematic's teachers 

(খ) 

Mathematics teacher 

(গ) 

Mathematic teachers 

(ঘ) 

Mathematics teachers 

     ঘ। Mathematics teachers 

৫০। 

Throughout history, the search, for salt has played an important role in society. Where it 
was scarce, salt was traded ounce for ounce with gold. Rome's major highway was called 
the via salaria, that is the Salt Road. Along the road, Roman soldiers transported salt 
crystals from the salt flats at Ostia up the Tiber River. In return, they received a salarium 
or salary, which was literally money paid to soldiers to buy salt. The old saying "worth 
their salt" which mean to be valuable derives from the custom of payment during the 
Empire. What does the passage mainly discuss? 

(ক) 

The Roman Empire 

(খ) 

Salt 

(গ) 

The old saying 'Worth their salt' 

(ঘ) 

Ancient Trade 

     খ। Salt 

৫১। 
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Throughout history, the search, for salt has played an important role in society. Where it 
was scarce, salt was traded ounce for ounce with gold. Rome's major highway was called 
the via salaria, that is the Salt Road. Along the road, Roman soldiers transported salt 
crystals from the salt flats at Ostia up the Tiber River. In return, they received a salarium 
or salary, which was literally money paid to soldiers to buy salt. The old saying "worth 
their salt" which mean to be valuable derives from the custom of payment during the 
Empire. According to the passage, salt flats were located in— 

(ক) 

Ostia 

(খ) 

Tiber 

(গ) 

Rome 

(ঘ) 

Salaria 

     ঘ। Salaria 

৫২। 

Throughout history, the search, for salt has played an important role in society. Where it 
was scarce, salt was traded ounce for ounce with gold. Rome's major highway was called 
the via salaria, that is the Salt Road. Along the road, Roman soldiers transported salt 
crystals from the salt flats at Ostia up the Tiber River. In return, they received a salarium 
or salary, which was literally money paid to soldiers to buy salt. The old saying "worth 
their salt" which mean to be valuable derives from the custom of payment during the 
Empire. Salarium is a latin word that means— 

(ক) 

the Salt Road 

(খ) 

soldiers 

(গ) 

salt 

(ঘ) 

salary 

     ঘ। salary 

৫৩। 

https://3hourbattle.com/sq/864
https://3hourbattle.com/sq/864
https://3hourbattle.com/sq/864
https://3hourbattle.com/sq/864
https://3hourbattle.com/sq/864
https://3hourbattle.com/sq/864
https://3hourbattle.com/sq/864
https://3hourbattle.com/sq/865
https://3hourbattle.com/sq/865
https://3hourbattle.com/sq/865
https://3hourbattle.com/sq/865
https://3hourbattle.com/sq/865
https://3hourbattle.com/sq/865
https://3hourbattle.com/sq/865


Throughout history, the search, for salt has played an important role in society. Where it 
was scarce, salt was traded ounce for ounce with gold. Rome's major highway was called 
the via salaria, that is the Salt Road. Along the road, Roman soldiers transported salt 
crystals from the salt flats at Ostia up the Tiber River. In return, they received a salarium 
or salary, which was literally money paid to soldiers to buy salt. The old saying "worth 
their salt" which mean to be valuable derives from the custom of payment during the 
Empire. If a man is "worth his salt", he is— 

(ক) 

a thirsty man 

(খ) 

a valuable employee 

(গ) 

a highly paid worker 

(ঘ) 

a soldier 

     গ। a highly paid worker 

৫৪। 

১২   ৯৬    ম    ( ই   ই           ) ক          ৪          জ ? 

(ক) 

২২ 

(খ) 

২১ 

(গ) 

২৪ 

(ঘ) 

২৩ 

     ক। ২২ 

৫৫। 

 ক                    ? 

(ক) 

ক   র 

(খ) 
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(গ) 

     

(ঘ) 

      

     ক। ক   র 

৫৬। 

 জ            তজক    ক     ? 

(ক) 

       

(খ) 

       

(গ) 

 ক       

(ঘ) 

         

     ঘ।          

৫৭। 

"Adult cell"      ক    ক         ক         জ       ? 

(ক) 

   র   র 

(খ) 

   র     

(গ) 

    ল   

(ঘ) 

  ন   

     খ।    র     
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৫৮। 

 ত ম    ক                ক              ? 

(ক) 

১  ট 

(খ) 

২  ট 

(গ) 

৫  ট 

(ঘ) 

৪  ট 

     গ। ৫  ট 

৫৯। 

           ম          ম    ক       ক                   ? 

(ক) 

    ন র    র 

(খ) 

  র ন র    র 

(গ) 

 ক ন র    র 

(ঘ) 

  ন ন র    র 

     ক।     ন র    র 

৬০। 

ম               জ   ক জ  ক                      ত              ? 

(ক) 

৯  ন 

(খ) 

৮  ন 
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(গ) 

৭  ন 

(ঘ) 

১০  ন 

     গ। ৭  ন 

৬১। 

ত               ক                  জ   ত  ক                    ক        

          ম  জ     ম                   ক    । ঐ        ক          ত   ? 

(ক) 

  ক   

(খ) 

ন র  নগ   

(গ) 

কর      

(ঘ) 

ল     র 

     ঘ। ল     র 

৬২। 

 ক    ই   ক             ক      ত   ? 

(ক) 

   ন র  র  

(খ) 

   লন      

(গ) 

  ন   

(ঘ) 

    র ক     

     খ।    লন      

৬৩। 
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                 ম   ক   ম              ত     ক         ক  ? 

(ক) 

    ল  

(খ) 

 কও   

(গ) 

   র  

(ঘ) 

 গও   

     গ।    র  

৬৪। 

ম                  ক    ক      ক       ত? 

(ক) 

   ন   গ   

(খ) 

  ন    

(গ) 

 গ    র 

(ঘ) 

 ন ন  

     ক।    ন   গ   

৬৫। 

    জ     জ        ক        ক          ক    ক জ     ? 

(ক) 

ক  ন   ল  

(খ) 

ক ল  

(গ) 
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  ন     র 

(ঘ) 

       ট 

     খ। ক ল  

৬৬। 

১৯৫২       ২১                 ম ত    ত ''ক  ''     ক      ত   ক? 

(ক) 

ক  র      র  

(খ) 

 নর      র  

(গ) 

          ল  ক 

(ঘ) 

  ন    র     ন 

     খ।  নর      র  

৬৭। 

                     ২১(২)                 ? ক   ম .........      ক    জ ত    

ক ম          ক        কত   ? 

(ক) 

       নর      ন গ    ক   কর  র 

(খ) 

 রক  রর      ন গ    ক   কর  র 

(গ) 

র   র      ন গ   ক   কর  র 

(ঘ) 

 নগ নর      কর  র 

     ঘ।  নগ নর      কর  র 

৬৮। 

 ত        ক    ক                  আ     তক   কত     আ  ? 
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(ক) 

    ৫৬   গ 

(খ) 

    ৬০   গ 

(গ) 

    ৫৪   গ 

(ঘ) 

    ৫০   গ 

     ক।     ৫৬   গ 

৬৯। 

ক জ  ইম       ক    আ                 জ     ক? 

(ক) 

ক  ক      র        ল    ন 

(খ) 

  ক ল ন     ল              র     র 

(গ) 

    ল       র   ন র    ন ক   ন  

(ঘ) 

         নর ক ন     র 

     খ।   ক ল ন     ল              র     র 

৭০। 

জ  ত            (Convention of the Elemination of all forms of Discrimination Against 

Women)   Monitoring ক ম                      ম    । ত    ক? 

(ক) 

            ন 

(খ) 

ন          র  

(গ) 

  ল   খ ন 
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(ঘ) 

  ল         ন 

     গ।   ল   খ ন 

৭১। 

 ক          ৩                    ক    ৯০   ।        কত? 

(ক) 

২৪ 

(খ) 

২০ 

(গ) 

১৬ 

(ঘ) 

১৮ 

     ঘ। ১৮ 

৭২। 

 ক        ত         মক   জ   তক     মত        ত? 

(ক) 

     ন 

(খ) 

  গ  ন  ন 

(গ) 

  উ ন     

(ঘ) 

    ন 

     খ।   গ  ন  ন 

৭৩। 

    x+5y=16     x=3y    y=? 

(ক) 

2 
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(খ) 

-2 

(গ) 

-24 

(ঘ) 

8 

     ক। 2 

৭৪। 

''        ই ত   ''  ই       ক  ক? 

(ক) 

     ক   ন      ন 

(খ) 

     ক    ল ক র  

(গ) 

 র          র 

(ঘ) 

ন   রর ন র   

     ঘ। ন   রর ন র   

৭৫। 

     ম        ক  ক? 

(ক) 

ক        

(খ) 

  ওল ন      

(গ) 

ক     র      

(ঘ) 

ক    ন     

     গ। ক     র      
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৭৬। 

  -ম         আ      ক ম         ম     ক               ? 

(ক) 

 র    

(খ) 

      র 

(গ) 

   র   

(ঘ) 

      ন ল  

     খ।       র 

৭৭। 

    ম  ক      ? 

(ক) 

   ক  ক 

(খ) 

  ন     

(গ) 

     নক 

(ঘ) 

           

     ঘ।            

৭৮। 

FIRE: ASHES 

(ক) 

water: waves 

(খ) 

accident : delay 

(গ) 
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event : memories 

(ঘ) 

wood: splinters 

     গ। event : memories 

৭৯। 

STARE : GLANCE 

(ক) 

gulp : sip 

(খ) 

scorn : admire 

(গ) 

confide: tell 

(ঘ) 

participate : observe 

     ক। gulp : sip 

৮০। 

CARPENTER : SAW 

(ক) 

seamstress : scissors 

(খ) 

stenographer : typewriter 

(গ) 

painter : brush 

(ঘ) 

lawyer : brief 

     ক। seamstress : scissors 

৮১। 

        ক        ত আ    আ  ত কত    ম      ? 

(ক) 

৯.১২    নট 
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(খ) 

৮.৩২    নট 

(গ) 

৭.৯৬    নট 

(ঘ) 

১০.৫৬    নট 

     খ। ৮.৩২    নট 

৮২। 

 ই  ত                  ম কত   ক    ? 

(ক) 

    ক র  ল       ক   

(খ) 

    লর     ক   

(গ) 

  ল-  -    ক   

(ঘ) 

 ক ন ট ন  

     গ।   ল-  -    ক   

৮৩। 

       ক        ম       ক  জ          জ    ক          ক                   ? 

(ক) 

ট        ন 

(খ) 

     ক  নউটন 

(গ) 

      ন     লন 

(ঘ) 
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     ক। ট        ন 

৮৪। 

  -                  ক                     ক  ক    ? 

(ক) 

 গ   ল  

(খ) 

উ   

(গ) 

        

(ঘ) 

ছ         

     ঘ। ছ         

৮৫। 

 ম                   ক     কত? 

(ক) 

৭২   .  . 

(খ) 

৭.৬   .  . 

(গ) 

৭৬   .  . 

(ঘ) 

৭৭   .  . 

     গ। ৭৬   .  . 

৮৬। 

আক       তম      ক    ? 

(ক) 

          র   

(খ) 
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ল  ক 

(গ) 

  ল  

(ঘ) 

    র  

     খ। ল  ক 

৮৭। 

            ম           ক   ? 

(ক) 

১০  ট 

(খ) 

৯  ট 

(গ) 

৮  ট 

(ঘ) 

৭  ট 

     ক। ১০  ট 

৮৮। 

              ম      ক    ? 

(ক) 

      

(খ) 

ক  র   

(গ) 

    

(ঘ) 

      

     খ। ক  র   
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৮৯। 

                ত  ক              ? 

(ক) 

ক    র       

(খ) 

গ  নর ক ল   

(গ) 

ন ট কর   ল    

(ঘ) 

গ  র    ন   

     গ। ন ট কর   ল    

৯০। 

             ক           ক     ত? 

(ক) 

নন  

(খ) 

    

(গ) 

      

(ঘ) 

    

     ক। নন  

৯১। 

 ক     ক                      ? 

(ক) 

            

(খ) 

  র  ও 
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(গ) 

    কর   ঘ র   র  ? 

(ঘ) 

ক ল  ক  র      

     ঘ। ক ল  ক  র      

৯২। 

         ক? 

(ক) 

  র    র   রন  

(খ) 

   র   রন  

(গ) 

গনন ন   রন  

(ঘ) 

  খ  র   রন  

     ঘ।   খ  র   রন  

৯৩। 

 ক     ক         - ক         ? 

(ক) 

গ  ছ    ল    ক    

(খ) 

 ক খ               ন  

(গ) 

  র   ছ ন  ছ      ন 

(ঘ) 

 ক   র            ও   

     গ।   র   ছ ন  ছ      ন 

৯৪। 
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                      ক    ? 

(ক) 

 রল  

(খ) 

   ল   

(গ) 

    গ   

(ঘ) 

     

     গ।     গ   

৯৫। 

Existentialism  ক? 

(ক) 

   ন     র  ক ট        

(খ) 

 ক ট   র    নক       

(গ) 

  -     র  ক ট        

(ঘ) 

           র  ক ট        

     খ।  ক ট   র    নক       

৯৬। 

"Adult Cell"      ক  ,          জ        ত     ম            - 

(ক) 

  ল 

(খ) 

  ল 

(গ) 
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  ল  

(ঘ) 

 নল  

     খ।   ল 

৯৭। 

 ম        ম      ক             ত ম     ক       ? 

(ক) 

 র ক 

(খ) 

 র ন 

(গ) 

  র  ক 

(ঘ) 

   র   

     ক।  র ক 

৯৮। 

                জ ক আ                        - 

(ক) 

      র       ক র 

(খ) 

   লর খ নর    লক        

(গ) 

উ    র নর      রক      র ক র 

(ঘ) 

     ক রখ ন র    লক     

     গ। উ    র নর      রক      র ক র 

৯৯। 

                          ? 

https://3hourbattle.com/sq/910
https://3hourbattle.com/sq/911
https://3hourbattle.com/sq/912


(ক) 

খ ন    ল 

(খ) 

  ক   ক গ    

(গ) 

       ন   

(ঘ) 

উ  রর     ল   

     ঘ। উ  রর     ল   

১০০। 

        ক   কজ     ই      ত - 

(ক) 

     নক 

(খ) 

         

(গ) 

র   ন    

(ঘ) 

ক   

     ক।      নক 
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